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setenv HF_BINDPROC_STRIDE 1
./cg_omp -F'prunst (threadnum (64) ,BIND (0) )’
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setenv HF_BINDPROC_STRIDE 2
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hode =1
total_tasks = 16
poe mpibind -thread 2 -hpc ./cg_mpi5
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caseS Inode,32mpi,lsmp
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1
S (s; m1 ,1rn2 ,m3 ,rn4 ,m 2) j j I Ldudzdydx
0

0 0 0

C=(x+y+z+u)l—x—y—z—u)+(x+y)z+u)
E=(-x—y—z—u)(x+z2)(y+u)+(x+y)zu+(z+u)xy
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D=—sE+M?*C
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1 11 xl le .xl xz X31 xl_X2 X3 X4 l—xl—xz—X3—X4—x5

f J. j j J. ¢ dx6dx5 dx ,dx,dx,dx,
0
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C=(x1+x2+x3+x4+x5)*(x1+x2+Xx3+x6+x7)-(x1+x2+x3)**2

cc=x1*m12+x2*m22+x3*m32+x4*m42+x5*m52+x6*m62+x7*m72
D=-c*cc

ASF(XL*X2* (XA+X5+X6+X7)+X1*X5*Xx6+x2 *x4*X7-x3*Xx4*X6)
At*Xx3*(-x4*x6+x5*x7)
Ap12*(x1*x3*(x4+X5+x6+x7)+x3*x4*(x6+x%7))
AP22*(x2*x3* (x4+X5+x6+x7)+x3*x6*(x4+x%5))
AP32*(x4*X5* (X1 +X2+X3+X6+X7 ) +x4*x6* (x2+x3)+x1*x5*x7)
APA2*(X6*X7* (X1 +Xx2+x3+x4+X5)+x4*x6* (x1+x3)+x2*x5*x7)

m12=1.0d0, m22=1.0d0, m32=1.0d0,m42=1.0d0
m52=1.0d0, m62=1.0d0, m72=1.0d0

p12=1.0d0, p22=1.0d0, p32=1.0d0,p42=1.0d0

s =1.0d0

t=1.0d0
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CPU smp%X E1THRRE |1EEE i
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8192| 1.298701 655 |k
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16| 7.021060 121|—02
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Phi5110P 1011GFLOPs
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g9mpx3  E5-2687W v3 3.10GHz
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&E75Hh TERHDD, A—TA42 JTlE
h =1.0e00; f,g,h:double ¢:float
if(g>=¢,){e=g;}
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a=77617.0,b =33096.0

f =333.75b° +a*(11a’b’ —b" —121b* —2) +5.5b"

d
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1 1-x I-x—y 1
2

I(s) = ! ! ! 5 dzdydx

(D=-xys—tz(1-X —y—2) + (X + y)A’
+(1—X—y—z)(l—x—y)me2
+Z(1—X—y)mf2)

s =-500",t=-150",m =150,m_ =0.0005,A =10""

1 ln(—s)ln(—t+2mf2)2

2 2
A m, m,

FRATALBIAE =

—s(-t+m,’)
A n(—t+mf2)
=s (~t+m,")’
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DDz AEHEE (a,b,c>0)
X=atb

doi=1,n

X=-1024+i

t=xxh

y=pi*0.5q0%sinh (t)

x30 (i) =exp (y) / (exp (y) +exp (-y))

gw30 (i) =cosh (t) *pi/ (exp (y) +exp (-y) ) x*2
end do

A—TALJTERFDITEEITBEITITRL.

X=1-c V4

do i=1,n

x=-1024+i

t=xxh

y=pi*0.5q0%sinh (t)

x30 (i) =1.090/ (1.0q0+exp (-2.0q0%y) )

gw30 (i) =cosh (t) *pi/ (exp (y) +exp (-y) ) x*2
end do




